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Day 12: Line segments and points, Cross sections, and rotations

Warm-up:

1. Height of person (H) = 64 in.
Length of shadow 1 = 80 in.
Length of shadow 2 = 120 in.
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The two triangles in the figure are similar. o S TS %fﬁi
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How tall is the tree? Justify your answer.
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2. A contractor is installing a new counter top in a kitchen. The figure shown here is a model for a
counter top. The measurements on the model diagram are given. If the actual countertop will be
similar to the model, explain one thing that must be true about the actual countertop.
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T the ratio of sides of the model to the actual countertop is-3@:L, what are the dimensions of the
actual countertop? smodatl | 2 o - - | Lo
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The Lesson: Line segments and points, Cross sections, and rotations ‘

The word between in Geometry has a special meaning: a point is between two others if all three
points are collinear (on the same line) and it is "between" the other two.

Example: _ oD

1. TIsBbetween A and C?_o o ,\)
2. Is D between A and C? N o {m%’“'(d‘“ Mﬁﬁ;\ :

3. Is E between A and C? & e [@;’m% e . .
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Segment addition postulate: If three points A, B, and C are collinear and B is between A and C,
then AB+ BC= AC

Example: If AB=5,and BC = 6, then AC = i E
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A M g @"ﬂ% of a segment is a point that divides a segment into two congruent segments.

Examples:

1. Billy and Evan are standing on a coordinate grid. Billy is currently on point (-1, 3) and Evan is
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2. Sarch is also standing on a coordinate grid at point (-5, 0). Her friend is somewhere on the

grid. Sarah walks in a straight line to point (4, 8) and realizes that she's gone exactly half
of the distance to her friend's location. On what point is her friend (assuming that her
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3. Caitlyn and Jack are standing on a coordinate grid. Caitlyn is af point (4, 12) and Jack is at
point (-2, -3). Cailtyn can walk much faster than Jack, so they agree to mef af the point 1/3
the distance from Jack (so Caitlyn would walk 2/3 the distance and Jack would walk 1/3 the
distance). On what point do they meet? Yoy YaIs
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a. What is the official name for point M?
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b. Find the value(s) of x and y.
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1D them mean “the distance between.” AM
translates to "the distance between A and M.)
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Angle Addition Postulate
If C is in the interior of LDAB then
m/LDAC +mZLCAB = mZDAB
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